Algebra 1 KEY
ALG.d

ALG.d.1

Name ID: 1

Date Period

Tell whether the|point (3,4) is a solution to the linear equation. Explain your decision.

1) —4x+2y=_4
—4x + y=-8

£ -4 () +a(u) =1 Yoy @)+ =5
=y=-4y ~% =-8/

(3,'-0 IS ASoLoTion TO THE SYSTEM
BEC AUSE THE POINT CHEWKRS IN  BoTH SQuaTioNs,

e —
Tell whether the point (1,5) is a solution l!o the linear equation. Explain your decision.
2) Sx+4y=-15

y=—-8x+3

¢ 50)+4(5)>-\s dy meoagh)es
a5 # -Is 5= =5

(y % T.S NoT A SoLuTIoN 1o THE SYSTEM
|

Be caosE THE PoinT  poes AT
CHegecw 18 EITWER EQUATIOW
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Solve each system by substitution. Clearly show EACH STEP. Circle your answer.

1) —4x —3y= —18 €:—1g=
FED e: 22

—Yx-3(4x-10)=-1g
“YX -12ZxX2+3a =7\8

2) y=
2x -4y =-4

=1

e
bl el

P el

Z% - LTE—-Bx 13 ) =-4
22X +1Z%x +92=-1

- Lo +§g“=—18 Hx-t—‘!f?_"_‘_“'gz
- —30 — % = ~Fb
— Nex =-43 ’\,S._; Tl
FimoY @ Eli_?l—
_E:us\ -vo Y=-3(4) 13
Solve by elimination. Clearly show EACH STEour answer. ,
3)%24—1031-—4\\' C:-4=-4 /4)<(3x 9y=-21)e4 -2 12 _3g~/i:8*1
2y=-8 C-%=-3v | (4x+6y=8)e-3 > —If 18y = -2
-\ Y=z - 4y=108
~1% -z =% o
[
Fimpxs aX- 10,):_%

X=-3)

?%‘ —L

5) Tx+10y=-18 = T¥+loy=-\%
=1 (7x+3y=24) — -7 x -3y =-24

o ‘Xg: ~4%2

7

—
—

l{-—b

FHJI)X‘.
("“L =24 =
;xx-? 22_\4 S
& S Q. 24=21

P . 1
77X YA

5 TER
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Solve each system by substitution or eleminafion. Clearly show EACH STEP. Circle your

answer. ‘ —+

@2) 6x-5y=-22 — (px—S‘l_-—-—zz ‘
—\-(Gx—8y=—283——:, —CX+81= 28V

Ty

<
Fiep X \E—_
LX -5 (2)=-22

bx -~ E=2%
+ +\0

o)
Sx+2y=-9

Sx v+ ( Uxaz-)=-9
Sxv 8x +4 =-9
;TBR*A =9

R =]

Fiany:
Y=4EN+2

®3) 6x+4y=0

x-\'
~Tx~4y=-4

X=-4

@1) C10x + 2y =-28) =4 = -"-i;D/A(+81'-"" Lz

4x-3y=9)«10 > YoX -}9}_’1@_}1

- =

Find Y =F() -4Y=-4

-2 -4y =4
+2 +2 % F|Nb X+
s =24 ] -
D] T
m‘\,—\’\/\ . L{x.— =¢|7
) y=tdx-15 ) 5
3x+5y=17 "’ﬁ‘
w?)x+5/‘—(:"'lx-lf')=\:!- g‘Y Cl
% - 20%~75 =17 | B
~az%x-7p=171
o )
R LT \x/‘-‘-/:] [ —3%=-28
—~23 —2% "
. 9:=9/
FINDY! ¢
V= -4 (-4)-1s

=)\

————

~<£



Algebra 1 Wainie I< E™Y

ALGd

ALG.d4
Solve each word problem using substitution or elimination.

ID: 1

Date Period

1) Ben's school is selling tickets to a fall musical. On the first day of ticket sales the school sold 3
adult tickets and 5 child tickets for a total of $61. The school took in $67 on the second day by

selling 1 adult ticket and 11 child tickets. Find the price of an adult ticket and the price of a child
ticket.

Key Info (draw picture):

DAY | — Seld 3 ado |+ Fickets, 5§ child £ickets for ‘?(’«‘;

- I+ 4ic ket 1\ child +oclets
DAY &2 seld | adv / i

> Define Variable(s) — remember units:
A= Price ot cduolt+ ticket ($)
‘:{= Price. ot child —icket (S>

Define Equation(s): o Sclv e ks
el = ¢\
DAY4 Eql: (5X+57=' Ll Yy 4 — 33X +SY =5
> 5 _3x ~33%] = "de°l
DAY 2 Eq2: ( X+”y=é:{")¢-—‘b“"‘ pet S SR
_..a‘is\l = =4O
Solve: B =
mex: '
3x + 5(5) =¢/
IN 25/ 06
— 7 —-25

EFag 1 x=12 |

S —

Answer (in words)

L? Bdy )+ +ickets Cost $12 and
child +ic Kets cost $5.

iz



2) The senior classes at High School A and High School B planned separate trips to New York City.
The senior class at High School A rented and filled 4 vans and 9 buses with 467 students. High

N .
}' School B rented and filled 1 van and 12 buses with 575 students. Each van and each bus carried
%\}’ o,p the same number of students. Find the number of students in each van and in each bus.
v
L

Key Info (draw picture):

H.S.A— 4 Vens, 9 buses —— HLF stvdents

S students
HS & — \\-’HM 18 buses —— 535 studen

Define Variable(s) — remember units:

X= ¥ sthderts in e.ach Ven
7/5 = hidante. Ta el bBes

Dej}'me Equation(s): v S___?_\ﬂ‘ : Ak
\%“;1: X +9Y = 4L+ — 4x +ay =6 x}
s® . (x+12y = 575)--4 —> 4y -4%Y = —2300
Solve: - Q‘f - —"%%5
—39 =

——

X+ \L(Lﬂ): 545

Answer (in words)

> Theee ove W sthdents pesvan and

43 stdents pPe bus.



